Top and Selected Lenders Market Share

Period = Oct 2013, Nov 2013, Dec 2013

Area = Sacramento, CA - 06067

Property Type = None

Loan Type = None

Interest Rate Type = None

Transaction Type = None

Loan Amount Ranges = Unknown or blank, \$1-\$999, \$1,000-\$4,999, \$5,000-\$9,999, \$10,000-\$14,999, \$15,000-\$19,999, \$20,000-\$29,999, \$30,000-\$49,999, \$50,000-\$74,999, \$75,000-\$99,999, \$100,000-\$149,999, \$150,000-\$199,999, \$200,000-\$249,999, \$250,000-\$299,999, \$300,000-\$349,999, \$350,000-\$399,999, \$400,000-\$499,999, \$500,000-\$749,999

Sales Amount Ranges = None

Financing Type Flag = None

Loan-to-Value Ranges = None

Sales_Loans_Cube					
Lender Master Entity	*Rank	Loan Amount	Loan Count	Average Loan Amount	% Market Share (out of all)
Wells Fargo & Company	1	\$226,680,838	1,140	\$200,248	20.80%
Bank Of America Corporation	2	\$131,115,743	739	\$177,905	12.00%
Quicken Loans Inc	3	\$82,454,855	380	\$216,986	7.60%
American Pacific Mtg Corp	4	\$77,494,020	341	\$227,255	7.10%
Comstock Mortgage	5	\$67,037,660	264	\$253,931	6.20%
Sierra Pacific Mortgage Company Inc	6	\$65,948,428	276	\$238,944	6.10%
Pinnacle Capital Mortgage Corp	7	\$61,028,547	265	\$231,169	5.60%
Summit Funding	8	\$58,020,546	246	\$235,856	5.30%
Vitek Mortgage Group Inc	9	\$55,909,845	240	\$232,958	5.10%
Jp Morgan Chase & Co	10	\$37,335,750	211	\$176,947	3.40%
Citigroup Inc	11	\$34,082,223	194	\$175,682	3.10%
Us Bancorp	12	\$32,487,473	215	\$151,811	3.00%
Mountain West Financial	13	\$21,621,229	100	\$216,212	2.00%
Provident Funding Assoc Lp	14	\$18,100,750	79	\$229,123	1.70%
Lennar Corporation	15	\$16,921,484	65	\$260,331	1.60%
Flagstar Bancorp Inc	16	\$15,608,490	67	\$232,963	1.40%
Mitsubishi Ufj Financial Group Inc	17	\$12,053,985	38	\$317,210	1.10%

Usaa	18	\$10,667,105	54	\$197,539	1.00%
Pnc Financial Services	19	\$9,235,782	44	\$209,904	
Bnp Paribas	20	\$8,221,960	60	\$191,208	0.80%
Branch Banking & Trust Company	21	\$5,920,778	25	\$236,831	0.50%
Everbank Financial Lp	22	\$5,325,937	26	\$204,844	0.50%
Cmg Financial Services	23	\$3,333,464	13	\$256,420	0.30%
Navy Federal Credit Union	24	\$3,142,430	18	\$174,579	0.30%
Tcf Financial Corp	25	\$3,045,588	43	\$70,828	0.30%
Franklin American Mortgage Corporation	26	\$2,954,756	13	\$227,289	0.30%
People's Mutual Holdings	27	\$2,515,590	10	\$251,559	0.20%
Dr Horton	28	\$2,185,318	7	\$312,188	0.20%
National City Corporation	29	\$1,668,075	8	\$208,509	0.20%
Homestreet Inc	30	\$1,662,400	6	\$277,067	0.20%
PHH Corporation	31	\$1,553,043	10	\$155,304	0.10%
M & T Bank Corporation	32	\$1,515,939	7	\$216,563	0.10%
Lehman Brothers Holdings Inc	33	\$1,237,182	4	\$309,296	0.10%
Capital One Financial Corporation	34	\$1,193,000	5	\$238,600	0.10%
Pinnacle Mortgage	35	\$1,179,800	4	\$294,950	0.10%
Merscorp Inc	36	\$1,143,878	4	\$285,970	0.10%
Hsbc Holdings Plc	37	\$1,033,525	5	\$206,705	0.10%
Washington Mutual Inc	38	\$966,487	4	\$241,622	0.10%
Gateway Funding Diversified Mortgage Services Lp	39	\$651,368	3	\$217,123	0.10%
Wachovia Corp	40	\$635,032	2	\$317,516	0.10%
Merrill Lynch & Co Inc	41	\$562,847	5	\$112,569	0.10%
Third Federal Savings & Loan	42	\$515,000	4	\$128,750	0.00%
Fim Holdings Llc/Gmac Mortgage Group Llc	43	\$495,075	3	\$165,025	0.00%
First Horizon National Corporation	44	\$359,511	2	\$179,756	0.00%
Ge Consumer Finance	45	\$275,000	1	\$275,000	0.00%
Cerberus	46	\$261,288	1	\$261,288	0.00%
Colonial Savings Fa	47	\$254,000	1	\$254,000	0.00%
San Diego County Credit Union	48	\$229,200	1	\$229,200	0.00%
Boeing Employees Credit Union	49	\$195,000	1	\$195,000	0.00%

Charles Schwab Bank	50	\$150,000	1	\$150,000	0.00%
Morgan Stanley & Co Inc	51	\$99,680	2	\$49,840	0.00%
Countrywide Financial Corporation	52	\$89,866	3	\$44,933	0.00%
James B Nutter & Co	53	\$76,313	1	\$76,313	0.00%
Allied Home Mortgage Captial Corporation	54	\$76,243	1	\$76,243	0.00%
Popular Inc	55	\$58,100	1	\$58,100	0.00%
Deutsche Bank Ag	56	\$0	1	-	0.00%
Grand Total	1	\$1,088,587,426	5,264	\$208,024	100.00%

